BT N =R R G B (A= — )]

TRR2THELA
HLOfE jEE b - RLo ] /,Jflb@% AN ;J:*”Eﬁ% f%%y\%i x A . T4 [A A 1AM EE B
AT — EI(1§% (2) %(Sfﬁ B (4) K i )f) 3 (6) K ﬁﬁ(j;f)i (%O%j:; T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 2 2 3 66.7 2 3 66.7
BEHET 99 1 1 101 107 94.4 101 107 94.4
EE5; 9 1 2 9 21 23 91.3 21 23 91.3
A H 61 184 1 246 333 73.9 246 333 73.9
AN 20 2 8 23 53 60 88.3 53 60 88.3
VA 60 4 62 1 127 93| 136.6 127 93| 136.6
=7 26 3 2 31 51 60.8 31 51 60.8
=ESTED 11 1 6 18 23 78.3 18 23 78.3
H g 3 1 86 36 54 7 187 341 54.8 187 341 54.8
AR 71 71 63| 1127 71 63| 1127
=P 20 7 307 70 791 11 1,206 1,198  100.7 1,206 1,198  100.7
UDKZ 77 A 5 5 10 11 90.9 10 11 90.9
D [E| PE 5 2 18 25 25|  100.0 25 25  100.0
i) A H 26 11 15 52 90 57.8 52 90 57.8
&t (E) 73 11 665 132 1,183 0 66 20 2,150 2,421 88.8 2,150 2,421 88.8
ATAER A 5 (F) 69 3 899 188 1,184 45 33 2,421
W k. E/F %| 1058 366.7 74.0 70.2 99.9 146.7 60.6 88.8
ai A & (G) 79 19 574 152 699 72 67 1,662
Wt E/G% 92.4 57.9 115.9 86.8 169.2 91.7 29.9 129.4
LA S0 B3 (H) 73 11 665 132 1,183 66 20 2,150
ARG (1) 69 3 899 188 1,184 45 33 2,421
F e H/T% 105.8 366.7 74.0 70.2 99.9 146.7 60.6 88.8
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AT — EI(1§% (2) %(S;EH B (4) K i )f) 3 (6) K ﬁﬁ(j;f)i (%O%E;i; T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 2 2 3 66.7 4 6 66.7
BEHET 119 1 1 121 117 103.4 222 224 99.1
EE5; 9 2 1 20 32 32| 1000 53 55 96.4
A H 79 204 283 376 75.3 529 709 74.6
AN 23 20 21 64 66 97.0 117 126 92.9
VA 80 10 64 1 155 133 1165 282 226| 1248
=7 28 2 8 3 41 52 78.8 72 103 69.9
=ESTED 21 1 7 10 39 27| 1444 57 50 114.0
H g 11 1 113 37 77 16 255 379 67.3 442 720 61.4
AR 89 89 86| 1035 160 149 1074
=P 14 4 348 84 876 16 1,342 1,474 91.0 2,548 2,672 95.4
UDKZ 77 A 11 5 16 6] 266.7 26 17 1529
D [E| PE 2 10 12 21 57.1 37 46 80.4
i) A H 43 18 32 1 94 100 94.0 146 190 76.8
&t (E) 91 8 810 179 1,353 0 91 13 2,545 2,872 88.6 4,695 5,293 88.7
ATAER A 5 (F) 81 5 1,090 177 1,427 72 20 2,872
W e E/F %] 1123 160.0 74.3 101.1 94.8 126.4 65.0 88.6
ai A & (G) 73 11 665 132 1,183 66 20 2,150
M E/G%| 1247 72.7 121.8 135.6 114.4 137.9 65.0 118.4
LA DD B E (H) 164 19 1,475 311 2,536 157 33 4,695
ARG (1) 150 8 1,989 365 2,611 117 53 5,293
F e H/T% 109.3 237.5 74.2 85.2 97.1 134.2 62.3 88.7
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HLOfE j{ b - RLo ] /AJ:?AIE%% AN /AJ:F'E% %/\@ x A N T4 [A A 1AM EE B
AT — EI(1§% (2) %(S;EH B (4) K {%5 Jf) 3 (6) K ﬁﬁ(jf)i (%O%Ef T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 3 3 7 42.9 7 13 53.8
BEHET 247 4 251 271 92.6 473 495 95.6
H iy 66 5 4 27 102 112 91.1 155 167 92.8
A H 148 345 493 681 72.4 1,022 1,390 73.5
AR 65 5 34 35 139 215 64.7 256 341 75.1
VA 1 120 6 103 230 144  159.7 512 370 1384
=7 33 2 16 1 7 59 96 61.5 131 199 65.8
=ESTED 24 4 19 14 61 114 53.5 118 164 72.0
H g 21 9 243 59 165 17 514 682 75.4 956 1,402 68.2
AR 5 137 5 147 129 114.0 307 278 1104
=P 29 7 607 161 998 24 1 1,827 2,069 88.3 4,375 4,741 92.3
UDKZ 77 A 14 8 22 17 1294 48 34| 1412
D [E| PE 3 3 18 24 54 44.4 61 100 61.0
i) A H 124 22 46 1 193 223 86.5 339 413 82.1
&t (E) 223 30 1,627 307 1,813 0 139 26 4,065 4814 84.4 8,760 10,107 86.7
ATAER A 5 (F) 296 24 1,718 341 2,161 224 50 4,814
Wt E/F % 75.3 125.0 88.9 90.0 83.9 62.1 52.0 84.4
ai A & (G) 91 8 810 179 1,353 91 13 2,545
Mt E/G%| 2451 375.0 188.5 1715 134.0 152.7 200.0 159.7
LA DD B E (H) 387 49 3,002 618 4,349 296 59 8,760
ARG (1) 446 32 3,707 706 4,772 341 103| 10,107
F e H/T% 86.8 153.1 81.0 87.5 91.1 86.8 57.3 86.7
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 1 2 3 1| 300.0 10 14 71.4
BEHET 83 7 90 87| 1034 563 582 96.7
EE5; 8 5 1 7 21 12[  175.0 176 179 98.3
A H 117 193 310 480 64.6 1,332 1,870 71.2
AN 28 1 5 18 52 38| 136.8 308 379 81.3
VA 80 6 75 1 162 44|  368.2 674 414 1628
=t 11 1 6 18 27 66.7 149 226 65.9
=ESTED 10 5 4 5 24 4]  600.0 142 168 84.5
H g 3 78 36 66 4 187 222 84.2 1,143 1,624 70.4
AR 1 67 68 132 51.5 375 410 91.5
=P 14 16 420 75 992 8 1,525 1,488 1025 5,900 6,229 94.7
UDKZ 77 A 7 4 11 3|  366.7 59 37| 1595
D [E| PE 6 8 14 71 2000 75 107 70.1
i) A H 4 39 20 22 85 58| 146.6 424 471 90.0
&t (E) 74 27 830 148 1,424 0 53 14 2,570 2,603 98.7 11,330 12,710 89.1
ATAER A 5 (F) 39 8 923 132 1,467 31 3 2,603
W . E/F %| 1897 3375 89.9 112.1 97.1 171.0 466.7 98.7
A A (G) 223 30 1,527 307 1,813 139 26 4,065
Wt E/G% 33.2 90.0 54.4 48.2 78.5 38.1 53.8 63.2
LA S0 B3 (H) 461 76 3,832 766 5773 349 73| 11,330
ARG (1) 485 40 4,630 838 6,239 372 106 12,710
F e H/T% 95.1 190.0 82.8 91.4 92.5 93.8 68.9 89.1
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5 15 1 b 55 &8 N . N .
- (1) (2) (3) @ | 5.7 ® | (9 HB) [ A/B % | A (C) iR (D)) €7D %
HAINY 0 4 0.0 10 18 55.6
BEHET 101 791 12718 664 661 100.5
EE5; 20 1 8 29 21 138.1 205 200 1025
A H 297 343 86.6 1,629 2,213 73.6
AN 30 13 8 51 54 94.4 359 433 82.9
VA 4 1 154 61 252.5 828 475 1743
=7 6 2 23 26 88.5 172 252 68.3
=ESTED 12 5 2 19 23 82.6 161 191 84.3
H g 1 39 3 222 193] 115.0 1,365 1,817 75.1
AR 60 87 69.0 435 497 87.5
=P 19 1 82 9 977 1,003 97.4 6,877 7,232 95.1
UDKZ 77 A 11 8 19 11 172.7 78 48| 1625
D [E| PE 5 4 9 12 75.0 84 119 70.6
i) A H 1 25 1 92 64| 1438 516 535 96.4
&t (E) 94 1 175 44 7 2,053 1,981 103.6 13,383 14,691 91.1
ATAER A 5 (F) 90 7 144 57 9 1,981
Wt E/F %| 1044 14.3 1215 77.2 77.8 103.6
A A (G) 74 27 148 53 14 2,570
Wt E/G%| 1270 3.7 118.2 83.0 50.0 79.9
LA S0 B3 (H) 555 77 941 393 80| 13,383
ARG (1) 575 47 982 429 115 14,691
F e H/T% 96.5 163.8 95.8 91.6 69.6 91.1
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 1 1 2 50.0 11 20 55.0
BEHET 73 2 75 109 68.8 739 770 96.0
EE5; 33 1 1 21 56 20|  280.0 261 220 1186
A H 162 243 405 444 91.2 2,034 2,657 76.6
AR 19 26 34 79 54| 146.3 438 487 89.9
VA 83 3 78 8 172 83| 207.2 1,000 558 179.2
—7 18 1 4 2 25 31 80.6 197 283 69.6
=ESTED 17 1 3 7 28 27| 103.7 189 218 86.7
H g 2 133 35 66 9 245 268 91.4 1,610 2,085 77.2
AR 2 55 57 84 67.9 492 581 84.7
=P 14 2 350 128 743 14 1,251 1,334 93.8 8,128 8,566 94.9
UDKZ 77 A 16 11 27 11| 2455 105 59| 178.0
D [E| PE 1 5 5 11 10| 110.0 95 129 73.6
i) A H 1 85 13 25 124 122 101.6 640 657 97.4
&t (E) 103 4 906 210 1,217 0 109 7 2,556 2,599 98.3 15,939| 17,290 92.2
ATAER A 5 (F) 91 9 919 167 1,352 55 6 2,599
Mt E/F %| 1132 44.4 98.6 125.7 90.0 198.2 116.7 98.3
A A (G) 94 1 690 175 1,042 44 7 2,053
Wt E/G%| 1096 400.0 131.3 120.0 116.8 247.7 100.0 1245
LA DD B E (H) 658 81 5,428 1,151 8,032 502 87| 15,939
ARG (1) 666 56 6,203 1,149 8,611 484 121 17,290
F e H/T% 98.8 144.6 87.5 100.2 93.3 103.7 71.9 92.2
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AT — EI(1§% (2) %(?jﬁ B (4) K i )f) 3 (6) K ﬁﬁ(zf)i (%O%Ef T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
KA INY 2 1 3 3| 100.0 14 23 60.9
BEHET 132 1 133 142 93.7 872 912 95.6
EE5; 23 3 2 10 38 45 84.4 299 265 1128
A H 119 260 379 527 71.9 2,413 3,184 75.8
AN 31 2 16 19 68 73 93.2 506 560 90.4
VA 120 6 79 205 54|  379.6 1,205 612| 196.9
=t 47 5 1 53 22| 2409 250 305 82.0
ZHESFD 12 6 10 28 43 65.1 217 261 83.1
HPE 6 2 133 45 82 5 273 293 93.2 1,883 2,378 79.2
ARK 1 70 71 105 67.6 563 686 82.1
=P 14 3 337 94 1,178 22 1,648 1,743 94.5 9,776 10,309 94.8
UDKT7 7 A 7 4 11 71 157.1 116 66| 175.8
D [E| PE 1 9 10 14 71.4 105 143 73.4
i) A H 51 19 44 114 124 91.9 754 781 96.5
&it (B) 93 10 942 188 1,719 0 72 10 3,034 3,195 95.0 18,973| 20,485 92.6
RTAER A 2 (F) 110 14 1,007 256 1,723 73 12 3,195
W . E/F % 84.5 714 93.5 73.4 99.8 98.6 83.3 95.0
A A (G) 103 4 906 210 1,217 109 7 2,556
W E/G % 90.3 250.0 104.0 89.5 141.2 66.1 142.9 118.7
LA S0 B3 (H) 751 91 6,370 1,339 9,751 574 97| 18,973
RTAEZGE (1) 776 70 7,210 1,405 10,334 557 133 20,485
W o H/1% 96.8 130.0 88.3 95.3 94.4 103.1 72.9 92.6
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 3 3 #DIV/0! 17 23 73.9
BEHET 77 2 79 95 83.2 951 1,007 94.4
EE5; 23 12 35 28| 1250 334 293 1140
A H 82 240 322 310] 103.9 2,735 3,494 78.3
AN 39 1 8 23 71 84 84.5 577 644 89.6
VA 67 4 42 2 115 45| 2556 1,320 657|  200.9
=t 25 2 2 1 12 42 25| 168.0 292 330 88.5
=ESTED 22 3 7 4 36 33|  109.1 253 294 86.1
H g 5 84 38 58 5 190 179  106.1 2,073 2,557 81.1
AR 1 48 49 64 76.6 612 750 81.6
=P 14 2 213 74 597 9 909 912 99.7 10,685 11,221 95.2
UDKZ 77 A 6 3 9 11 81.8 125 77| 162.3
D [E| PE 1 2 10 13 11 118.2 118 154 76.6
i) A H 58 13 13 1 85 81 104.9 839 862 97.3
&t (E) 110 6 607 146 1,005 0 62 22 1,958 1,878 1043 | 20,931| 22,363 93.6
ATAER A 5 (F) 113 6 638 128 923 61 9 1,878
Wt E/F % 97.3 100.0 95.1 114.1 108.9 101.6 244 .4 104.3
A A (G) 93 10 942 188 1,719 72 10 3,034
Wt E/G%| 1183 60.0 64.4 77.7 58.5 86.1 220.0 64.5
LA S0 B3 (H) 861 97 6,977 1,485 10,756 636 119] 20,931
ARG (1) 889 76 7,848 1,533 11,257 618 142 22,363
F e H/T% 96.9 127.6 88.9 96.9 95.5 102.9 83.8 93.6
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A—T— EI(f/J (2) %(Sfﬁ @ 5 {%;3 Jf) B (6) " ﬁﬁ(jf)i (%O%Sf T PR | AT | KR (©) I (D)] 67D %
FANY 4 4 2| 2000 21 25| 840
[ 134 1 135 163 828 1086 1,170 9238
B 34 1 7 39 81 92| 880 415 385 107.8
AH 96 224 320 389 823 3055 3883 787
Wy 54 20 23 30 127 154 825 704 798] 882
~V 4 92 8 64 10 174 101] 1723 1,494 758]  197.1
—E 34 2 1 4 41 44| 932 333 374| 890
SEST) 21 10 5 36 48| 750 289 342| 845
H P 6 2 122 46 89 3 268 308 87.0| 2341 2865 817
ARF 2 65 67 78] 859 679 828| 820
ka4 3 5 306 110 993 25 1442 1366 1056 | 12127| 12587|  96.3
UDhT v A 9 11 20 20 100.0 145 97 1495
D[] E A 5 2 28 35 29| 1207 153 183| 836
i A\ HE 96 33 34 163 147| 1109 1,002 1,009 993
&t (E) 132 28 882 239 1,474 0 126 32 2913 2941 99.0 | 23844 25304 942
AR () 181 25| 1,066 221] 1,303 120 25| 2941
Ml b E/F%| 729 1120 827 | 108.1 [ 1131 1050 | 1280 99.0
CUPERN () 110 6 607 146] 1,005 62 22| 1958
fl b E/G%| 1200| 466.7| 1453| 163.7| 1467 2032 | 1455| 14838
LA DO R (1) 993 125|  7.859|  1,724| 12,230 762 151| 23,844
ATAESAEE (1) 1,070 101]  8914]  1,754| 12560 738 167| 25,304
A LT % 928 | 1238 88.2 98.3 97.4 103.3 90.4 94.2
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15 15 1 7 &% - ] - .
- (1) (2) (3) @ | 5.7 0, 9) HB) [ A/B % | A (C) iR (D)) €7D %
HAINY 1 1 100.0 22 26 84.6
BLET 66 67 110 60.9 1,153 1,280 90.1
EE5; 31 3 3 52 43| 1209 467 428  109.1
A H 72 355 344 1032 3,410 4,227 80.7
AR 26 14 64 54| 1185 768 852 90.1
VA 57 3 107 75| 1427 1,601 833| 1922
—7 22 4 23 52 37| 1405 385 411 93.7
=S 16 1 5 27 21 128.6 316 363 87.1
HPE 8 2 101 51 235 218 1078 2,576 3,083 83.6
ARK 1 71 80 88.8 750 908 82.6
=P 8 8 315 110 1,278 1,261 101.3 13,405| 13,848 96.8
UDKT7 7 A 9 13 16 81.3 158 113]  139.8
& DL [E PE 5 65 75 56| 133.9 228 239 95.4
i) A H 2 52 21 89 79 1127 1,091 1,088 100.3
&it (B) 105 14 686 211 88 2,486 2,395 1038 | 26,330 27,699 95.1
RTAER A 2 (F) 119 6 808 176 66 2,395
W . E/F % 88.2 233.3 84.9 119.9 133.3 103.8
A A (G) 132 28 882 239 32 2,913
W E/G % 79.5 50.0 77.8 88.3 275.0 85.3
LA DD B E (H) 1,098 139 8,545 1,935 239 26,330
RTAEZGE (1) 1,189 107 9,722 1,930 233 27,699
W o H/1% 92.3 129.9 87.9 100.3 102.6 95.1
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 2 2 2|  100.0 24 28 85.7
BEHET 82 4 86 88 97.7 1,239 1,368 90.6
EE5; 25 1 2 19 47 40| 1175 514 468| 109.8
A H 105 165 12 282 348 81.0 3,692 4,575 80.7
AN 40 2 19 24 85 51 166.7 853 903 94.5
VA 1 50 5 37 1 94 58]  162.1 1,695 891 190.2
=7 14 2 2 1 24 43 53 81.1 428 464 92.2
=ESTED 17 5 5 10 37 39 94.9 353 402 87.8
H g 4 2 72 34 56 9 177 209 84.7 2,753 3,292 83.6
AR 72 72 79 91.1 822 987 83.3
=P 7 312 100 755 17 1,191 1,222 97.5 14596 15,070 96.9
UDKZ 77 A 8 8 16 12 1333 174 125 139.2
D [E| PE 5 3 78 86 91 94.5 314 330 95.2
i) A H 1 57 13 12 83 83|  100.0 1,174 1,171 100.3
&t (E) 108 10 692 180 1,105 0 104 102 2,301 2,375 969 [ 28,631| 30,074 95.2
ATAER A 5 (F) 107 15 685 188 1,210 76 94 2,375
W k. E/F %| 100.9 66.7 101.0 95.7 91.3 136.8 108.5 96.9
A A (G) 105 14 686 211 1,302 80 88 2,486
Wt E/G % 1029 71.4 100.9 85.3 84.9 130.0 115.9 92.6
LA DD B E (H) 1,206 149 9,237 2,115 14,637 946 341 28,631
ARG (1) 1,296 122 10,407 2,118| 14,942 862 327| 30,074
F e H/T% 93.1 122.1 88.8 99.9 98.0 109.7 104.3 95.2
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5 5 1 57 & N . N .
- (1) (2) (3) @ | 5.7 0, 9) HB) [ A/B % | A (C) iR (D)) €7D %
HAINY 0 1 0.0 24 29 82.8
BEHET 95 97 113 85.8 1,336 1,481 90.2
H iy 18 1 2 38 25|  152.0 552 493 1120
A H 58 201 263 76.4 3,893 4,838 80.5
AN 46 21 86 88 97.7 939 991 94.8
VA 43 6 74 66| 112.1 1,769 957| 1848
=7 11 22 39 44 88.6 467 508 91.9
=ESTED 14 8 6 39 36/ 1083 392 438 89.5
H g 6 77 34 162 170 95.3 2,915 3,462 84.2
AR 63 73 86.3 885 1,060 83.5
=P 12 4 438 91 1,111 614 180.9 15,707 15,684 100.1
UDKZ 77 A 5 12 12[  100.0 186 137 135.8
D [E| PE 3 39 44 52 84.6 358 382 93.7
i) A H 54 14 83 105 79.0 1,257 1,276 98.5
&t (E) 104 13 776 174 61 2,049 1,662 1233 | 30,680 31,736 96.7
ATAER A 5 (F) 79 19 574 152 67 1,662
Wt E/F%| 1316 68.4 135.2 1145 91.0 123.3
ai A & (G) 108 10 692 180 102 2,301
Wt E/G% 96.3 130.0 112.1 96.7 59.8 89.0
LA DD B E (H) 1,310 162 10,013 2,289 402| 30,680
ARG (1) 1,375 141 10,981 2,270 394 31,736
F e H/T% 95.3 114.9 91.2 100.8 102.0 96.7




